
LED UFO High Bay PC Cover

01

Note: Hardware shown actual size.
HARDWARE CONTENTS

AAA Metal Steel Rings Qty. 1

 PARTS DESCRIPTION                  PICTURE    QUANTITY

BB Upper Cover Qty. 1

Qty. 1

CC Lower Cover  Qty. 1

DD

FF Machine Screw M4*16 Qty. 6

EE Pliers
Pliers are not included
in the accessories and
need to be prepared by
yourself.

Installation Instruction

1.As shown in the figure, take out the screws.

Take out 6-M4X8 screws

Zoom in picture

Spring

 PARTS DESCRIPTION                  PICTURE    QUANTITY

何繁
矩形



LED UFO High Bay PC Cover

Pass through FF(M4X16) screws to the 
PC cover and tighten the srews

  

2.As shown in the figure, pass through
FF(M4X16) screws to the Lower Cover(CC),
Align the holes on the fixture and tighten the
screws.

Zoom in picture

02

FF CC

BB

AAA

FF

 

 

3.As shown in the figure, use metal steel rings(AA)
to connect the upper(BB) and lower(CC) covers
together in sequence. Warning, the connecting
spring(DD) must use pliers(EE) and cannot be
installed with bare hands.

CC DD

Administrator
线条

何繁
矩形

何繁
矩形


